50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 12MBA13
First Semester MBA Degree Examination, Dec.2014/Jan.2015
Quantitative Methods - |

?Iil;ne: 3 hrs. Max. Marks: 160
J Note: 1. Answer any THREE full questions from Q.No.1 to 6.
2. O.No.7 and 8 are compulsory.
3. Scientific calculators allowed.
4. Use of statistical tables allowed.
1 a Write { he steps in “Business Research”. S% (03 Marks)
b. Find the eWted value of random variable “No of heads” while tossing three coins
51mu1taneousIW - L (07 Marks)
¢. Records of ABC }g%gtal shows the following: Y
Age: 56 4 72 39 63 47 I 50 49 40 42
BP: 127 110- 4 140 118 129 | -116 130 125 115 120
What will be the BP of pét‘iéht who is 45 years old? (10 Marks)
2 a. Write any three charactenstlcs of “Good average (03 Marks)
b. Explain the steps involved in “Testgig f Hypothesis”. (07 Marks)
c. Sales department of XYZ company g@bsgrved 31% of total days the sale was under 45000
units. And 8% of total days it was-over 65000 units. If the sales are distributed normally,
what is the average sales? R W {10 Marks)
3 a. For a pair of variables X aqgi Y it was computed j;hat bxy = 0.85, byx = 0.89 and o,
Establish relationship quveen the variables X and Y. AISQ interpret the relationship.
(03 Marks)
b. A private ambulance service claims that it takes 8. 9 mins on an average to reach the
destination. A\sample of 50 emergency calls resulted an average of 9.3 mins with the SD of
1.8 mins to destination. Does the sample data support the é@nn (07 Marks)
c. Compute,.bfean Median and mode from the data pertaining to ma;ks scored by 80 students
in st@tmes The test is of 140 marks. e (10 Marks)
Matks more than: [ 00 {20 [ 40 | 60 | 80 | 100 | 120 A
|:No. of students: |80 |76 |50)|28 |18 |09 |03 "
4 z;. : What is “Equal Probability Sample™? | (03 Marks)
b. In computation of correlation analysis, it was noted that, n = 25, ZX =125, ZX2 =650,
ZY =100, ZYZ =460, ZXY =50. Later it was observed that two entries
(X=6,Y = 14) and (X =8, Y = 6) were taken in place of correct entries (X =8, Y = 12) and’
{X =6,Y = 8). Compute correct correlation. (07 Marks)
¢. A study with 1000 students revealed that 600 had rich economic background, 400 and 300

students had respectively medium and low IQ level. The rest had high 1Q level. 140 IQ
leveled students had poor economic background. Under rich economic background 300
students had their IQ to medium level. 160 of low IQ leveled students were from poor
economic background. Do the data support “Economic background and IQ level of students
are independent™? : (10 Marks)
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What is type — I error? (03 Marks)
In a factory, three machines A, B and C manufacture 25%, 35% and 40% of total products.
Of the output, 5%, 4% and 2% of items were known to be defective. An item was inspected
for quality check. What is the probability that, i) It is defective i) It is good item

produced by machine ‘C’? (07 Marks)
Explain in detail “Non-probability sampling methods”. (10 Marks)
What is Karl pearson’s coefficient of skewness if C.V = 40; Mean = 25 and Mode =207
. {03 Marks)
“'What are the characteristics of “Questionnaire™? r~+_# (07 Marks)
Find the values of X and Y from the following distribution: - 7" (10 Marks)
Mid value: [ 15[25]35[45]55]65 o
Frequenioy: | 10 | X | 15 20| Y | 11 -

Note: N “%82 gnd Median = 41 .

A movie producer is brmgmg out a new movie. He intends:te determme its appeal to just a
particular age group r equal to all age groups. The proflyeer has taken a random sample
from the persons atts prev1ew of movie. Suggestistat tical tool to verify the producer’s
claim. w o R {05 Marks)
Assume you are appearmgj‘g a competitive ea(@rmnatlon The paper is based on multiple
choice questions. Consisting ten questions withfour choices. 75% score shall place you on

the distinction class. What is the’ best tool to find the possibility of your distinction result?
(05 Marks)
Government of India has resolved to surve,y growth in agricultural production for the current
year. Key objectives include : To know the crop cultivated, yield per acre, total production
and so forth. Suggest type of syrvey and the method for data collection. (05 Marks)
A researcher in public intergst want to assess” t,hg quality of service offered by SBI. His
interest ranges from knoﬁﬁg the customer, aﬁajy@ng the products and services offered
customer satisfaction amI Kfentlfymg other gaps that needs to be filled with respect to quality
of service. Suggest an approprlate research design. (05 Marks)
In a producupn proces five workers were appointed. Thf-ry were given four different
machines to’ york with. Production manager found the produgtion difference when the
workers were given different machiens. Production of workers .on four machines were:
44; 38; 47 36 units were produced by first worker. The second worker had produced 46; 40;
52 gnﬂ 43 units from four machines. Similarlly, output of third worker. »wz;s 34; 36; 44; 32
urth worker — 43 ; 38; 46; 33 and by last worker — 38; 42; 49; 39 units’ ’g;yese outputs of
{ various worker has rnade the production manager to have assumption that the’ workers are
* not equally efficient.
Do you feel the manager’s assumption is right? Justify. (ZQW.;Ma;'ks)
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